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LTARA 45,731,006 47,903,898 A2,172,892
WRES (& T A L) 45,731,006 47,903,898 A2,172,892

HEAHK B (HEGH+BL HRI RS LAY ) 45,731,006 3,438, 147 42,292,859
HEst+S2 MY 2228 45,731,006 3,438, 147 42,292,859
101 2124yl 12,000 0 12,000
04 JIAH2EZHE LS4 2,000 0 12,000
OMelX SHBIE HMEXY
34,6102 * 821 * 21.672 * 23 12,000
201 YEr2 Y| 1,484,208 0 1,484,208
01 A2l 148,440 0 148,440
SIEITES=11T) 148,440
04N 24 242
1,000,000 * 13l 1,000
OHIIZ SISty
150,000 * 10E * 122 18,000
OA2ANE HIIHY 248
500,008 * 105 * 43| 20,000
OA2ANE 298 =7 A
5,000,0002! * 33l 15,000
O4X ME SHAN 242
,000,000%! * 1242 12,000
OA2ANE HIIRESE It SHY|
1,000,002 * 43 * 12042 48,000
OFI|QTBR Y 242 14,400
0RAEHBIH(1S) 200,008 * 122 2,400
0Q4EN BIEF(25) 400,008 * 128 4,800
0Q4ZN BII(35) 600,008 * 128 7,200
OX2IZE HIIAL FIIZAA +42
6,000,0002! * 18l 6,000
OX2IZ Aall Y M £42 6,000
OBNBEY 200A2 248
600,002 * 122 7,200
OX2IZLY 2O AA 242
120,008 * 13| * 7CH 840
02 IT2YH| 1,335,768 0 1,335,768
O[B2R2 % MAl 583,800
OMBIEE ABE(1244)
1,600,0002 * 128 19,200
OTW/TC MB8E& AFB2 100,000 * 12® 1,200
OAgotEBRl &3yl
120,008 * 20! * 13| 240
OFIIQFBE| EalY|
150,0002! * 491 * 13| 600
OGt+MeY ®IIe3 562, 560
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oJlZ2= 6,610& * 1,200kW » 12& 95,184
o= ¥~ 74 9% x 520,000kW » 123 467,376
Ol¢Zdl] 281,118
OU=ESot=xaE MRa & A8 AZH|
1 83 » 302 45¢ » 304 6,002
osABEZ LEI| HEHI(ZER)
& x 704« 10AI2F = M A 3,112
OXcl&EUW =8 AZdl(OorEd)
L6703 + 40¢ » 102 = 3CH 2,004
osdil & BXHAzd FMAR (2
oz Z2E 900& * 1,000 4 = 300& 270,000
O[ANEEEIR 470,850
OAN&EE= 300& * 1,00004 * 33l 900
ooEEY PN
2,000& = 200m » 23l 800
OJIAHANE B8 B+
50,000& * 1085 » 20 1,000
Odt=HXelAldE E4k
50,0003 * 23| » 2044 200
OJI A& I HZel  300& = 1,5000H 450
OUi=ot=xXel & 2= KAl
400,000 * 10902 4,000
o= & A2 =X
700,000 * 3K A 2,100
OXIAX SX 22lhl 1,200,000& * 1CH 1,200
OBILER SXZcltl 40,900
odt=Xeld HXE
1,400,000 * 116CH * 1/8 20,300
o028 AFEEZ HY|
10,000,000& * 9CH = 1/9 10,000
oXlotEs+ Xbi+=EHZ WX
500,000& = 10CH 5,000
o gtz I WA
1,600,000& * 14CH = 1/4 5,600
oz sdE = =A el 44,000
o=&AHO ] 7,000,000& » 1= 7,000
o EAHA 6,000,000& * 2% 12,000
omEXEL &l 1,000,000 * 2% 2,000
ozl&E FEA £l 1,250,000& *» 4= 5,000
o0&3J| &l 1,000,000& * 5CH 5,000
oA=2X 4H| 2,000,000& * 10 2,000
o+=& TMS |Xl2cltl
500,000& = 120 6,000
02 Y MG SHEZEH HH|
500,000& * 100H 24 5,000
ozEgs sx
2,500,000 = 3200 = 1/16 5,000
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140,000& * 50
02E, UE, 2tAF 5003 * 205 * 15004
02 10,000& * 3= * 4004
oE # 2,000& = 105 * 50kg
0 EES 100,000& = 105
0 + WE RX 2l
100,000& = 10CH
0 RSH(2004) 200,000& * 5&&
oHiloie 52,000& » 50& = 1000 = 1/2
O&II4Hl RX2el ABF
o CCTV Jtoiict | X2el
125,000& = 16CH = 1/2
oANlEZS 245 &+
9,000& = 2& = 10074
o &Il XtEI| WA
200,000& = 105 » 1004

o MBI EIOIH Xl 25,000& * 4004
o HIED| X 30,000& = 208
o2EH Y WA

500,000& * 503 = 30H * 1/15
0 Z2H 2UAM WX 100,000& * 109H
o0 2H EIOIH WX 20,000& * 304
oZE MI| md XIAIH 2

60,0002 * 107K

1,000,000& * 105

2,000
271,000
8,000

7,000

8,000

180,000

18,000

30,000

20,000
31,700
5,000

7,000
1,500
1,200
1,000
1,000

1,000
1,000
13,000
32,600

1,000

1,800

20,000
1,000
600

5,000
1,000
600

600

1,000

10,000




SN SEAYA

By HRES (LA

ga)
B2 WRHAXES(HSot+-SLHUE S LA HES)

X LH -
SN I SRI(S) - NRAY - B sk e B RS2
OSRYXTEXL 2IHH WX
5,000,000& * 24! 10,000
OBEA &H| A2l 500,000& * 10944 5,000
oHlagEI| FXl2e]
500,000 = 6CH * 1/3 1,000
OMeIZ HEJI(AEY ZF)
500,000& * 8& 4,000
OXMeld SO0IAE |X2el
300,000 * 25004 = 1/5 1,500
OJIAINE EM4E HE 50,0008 * 30S 1,500
206 M= dl 228,700 228,700
01 M=l 228,700 228,700
Odt==HdelZ M=H 10,000& * 509 * 23l 1,000
OZZM(IYLHEZE) 7,700& » 10kg » 250 19,250
OLlEX STEHM(20I2)
5,000& = 60kg * 250 75,000
EFM(LH HAE)
6,000& » 10kg » 120 7,200
O=xXcl S&H 150,000& » 25m" » 153 56,250
OF==F=E | 6,000& = 30kg * 250 45,000
OL2AE SR8 AEHI(58)
5,000& = 20kg * 250 25,000
207 Ao H| 145,763 145,763
01 2 E S| 138,263 138,263
OliEst+=xeld J=dd & 72,563
OliEotr2H JIsdt 4
4,380,000& = 15km 65,700
03 A& A HI 7,500 7,500
Oa&gs =RII+# 10,0002 * 25& * 43| 1,000
Oaga Al 10,000& * 758 = 23l 1,500
OF4&INE A 1,500,000& * 2N E 3,000
OdEs BT 20,000& * 258 = 23l 1,000
Oaga Zdl |X 2eldl
50,000& * 208 = 13l 1,000
401 Al&HI YL OHYI 730,000 730,000
01 Al&H| 730,000 730,000
OUE +FHEZEY EHI(3U) WHSA
300,000,000& * 14 300,000
OU= 222 ING S=&£8l E&XI3AM
200,000,000& = 1A 200,000
Odt==HM2I & BXZ WXHSA
200,000,000& = 14! 200,000
OAANE HEBZLSE BLBA
30,000,000& 14 30,000
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602 Ol XI= 43,130,335 0 43,130,335
01 GIXI= 43,130,335 0 43,130,335
Oll=sot+=HEIl= HXl=
43,130,335,000& * 14 43,130,335




